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CBouncTBa CTENEHU
C JENCTBUTENbHbLIM NOKa3aTenem:

1. a*1a*2 = ax1+x2,

7.a* > 1,eciua>1ux >0,
8.a*t < a*2,ecqina > 1u xq < Xy,

9.a*1 > a*2,ecin0 <a<1uxq < xy.




OnpepgeneHune

lMokasarenbHou byHKUNEHN
Ha3biBaertcq cbyHKUMA BUpaa y = &',
rge a — 3apgaHHoe 4Yucno, TakKoe,

yuroa-~>0,a#1.




CBoMcTBa PYHKIMHU y=a*

1. O6sacTb onpeaeieHU PYHKUIUH —
X E R

2. MHO>eCTBO 3Ha4YeHHUU PYHKIIUH -

y > 0.

3. Bospacrarliasg Ha MHO>KeCTBe BCeX
eV CTBUTEJIbHBIX YU ceJ, ecau a > 0,
yobiBaromad, ecan 0 < a < 1.

4. OrpaHU4YeHa CHHU3Y.
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I'padpuk pyHKIUMHU y=a*, eczin a > 1
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I'padpuk pyHKIMHU y=a*,ec;in 0 < a <1
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